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20144 2013 20144 20144
PM10  (ug/m°) 150 Olst 45 49 48 57
PM2.5 (ug/m?) - 27 35 29 -
CO  (ppm) 10 O[5t 0.7 0.9 0.4 0.7
CO.  (ppm) 1,000 O35} 536 538 - -
NO>  (ppm) 0.05 O[5} 0.045 0.044 0.020 0.030
HCHO  (ug/rm) 100 Olst 8.8 10.9 — —
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PM10 PM2.5 cO COz NO: HCHO
(ug/m’) (ug/m°) (ppm) (ppm) (ppm) (ug/m°)
L= — —
o 201444 37 1.1 483 0.045
20134 42 - 1.0 519 0.044 -
otatet 20144 40 — 0.7 517 0.045 —
20134 45 - 0.9 534 0.037 -
20144 40 - 0.9 468 0.050 -
o=y
20134 39 - 1.0 466 0.044 -
_ 20144 34 - 0.8 530 0.048 —
Shak:
20134 45 - 1.0 536 0.043 -
L 20144 51 25 0.6 531 0.042 89
el
2013 53 - 0.7 525 0.050 15.2
20144 21 7 4 . 7.2
Al 0 39 0 50. 0.036
20134 45 - 0.7 523 0.039 5.4
20144 32 15 0.6 483 0.044 -
Saio
2013 - - - - - -
15M 20144 58 35 0.8 594 0.048 -
CHEtA 20134 64 0.8 577 0.048 -
15M 20144 55 29 0.7 549 0.041 -
Szt 20134 59 0.8 581 0.041 -
ﬂ 25M 20144 46 30 0.6 650 0.042 10.3
o e 20134 46 0.7 627 0.042 15.2
25 M 20144 51 24 0.5 559 0.050 -
Szt 20134 48 0.8 548 0.045 -
Ao 20144 52 29 0.7 588 0.046 10.3
o 20134 54 - 0.8 583 0.044 15.2
- 20144 45 27 0.7 536 0.045 88
< v 20134 49 35 0.9 538 0.044 10.9
150 O[5t 10 O|3F 1,000 Ot 0.05 Olst 100 Olst
RAED7RE EARMED) T (ARER) (IARMEE) (IARED) (1ARED)
B 4. SX|(HD)7|& Z0HHECHS0IEAIM 52| AUS7|RIE2H)
= PM10(ug/m?) CO(ppm) CO2(ppm) NOx(ppm)
S 150 O|&} 10 O3} 1,000 O[5} ~
= (ONFdz=5) (1AlZ =) (1AlZHE=)
0.05 o|a}
s - B B (1AZE)
L 2014 283/(0.0 %) 03/(0.0 %) 1463)(0.2 %) 23.2135/(31.2 %)
=04 - - _ -
20134 373/0.1 %) 03/(0.0 %) 783)(0.1 %) 17.6603/(28.1 %)
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- AFE NO, 233l vl (3,288)>‘-:ﬂ%j®.<2,9oo)>ﬂ%®. 2341 772,903 A1
o 154 HeH(2,692))7FH(2,544)) ArtH(2,494)) A 284 digh(1, 739)) d=
(1,425 AW 1541 577(1,395)) 52 A(1,012) AV A (821) = LERE
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- 49 NO; 2RI 54 3,4493=2 7MY =A Ueton, AP R AFsAt 53E0]
B Aol B2Ae] Z71ston, A Bage] HiHOR He o2 of
AIZE B A =2 Aol AR s 20Slaert HAskelE

H 5 XHEE |X|(HD)7|E =t (Zasls)
- MEel solof oMol mlidel oMY HES] A Ba% | #
144
o | 14|19 0 0 3 0 5 0 1 28
M :
(PM10) 134 | 11 3 1 2 9 10 1 - 37
144
orsta | 14| 1290 0 0 0 17 0 0 146
(02 13 | 70 2 0 0 0 6 0 - 78
144
oaspLa | 14| 8729 2544 2494 3288 2900 1425 821 1012 | 23213
N :
(NG 13 | 5717 2213 1286 2115 2026 318 1,121 — | 17,660
MEA Meot
7 B :
15M CHEHAl 15M A2 25M et 2sM azm | B
OJM[EHK| 144 15 1 0 3 19
(PM10) | 1314 4 5 0 2 11
olAtsiErA | 14 7 0 117 5 129
(CO2) | 134 14 10 46 0 70
optarEA | 14 2,692 1,395 1,739 2,903 8,729
(NO2) | 134 2,655 1,539 722 801 5,717
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